Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-C to D Bridge Course EXAMINATION -
Winter- 2019

Subject Code: C320003 Date: 03-01-2020
Subject Name: ADVANCED MATHEMATICS(GROUP-2)
Time: 02:30 PM TO 04:00 PM Total Marks: 70

Instructions:

. Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

. English version is authentic.

=
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No.  Question Text and Option. U< vid [Ascul,

The distance between points A(0,-4) and B(2,-8)is units.
1. A 20 B. 25
C. 5v2 D. 32
[sig24l A(0,-4) vt B(2,-8) 42 »id2 BisH 69,
. A 20 B. 25
C. 52 D. 3v2
The locus of a point which is equidistance from the point (2,0) and the line x=-2
IS
2 A =8y B. y? =8x
C. y? = —-8x D. x% = -8y
2l x=-2 21 [olg, (2 0) ol Uvtl 2idz 26| alA 521 [oigl [sizua, £,
2. A = 8y B. y = 8x
C. y? = —8x D. = -8y

The Circumcentre of the triangle having vertices (0,0), ( 5,0) and 0,12) is

N G

C. (5,12) D. (12,5)
(0,0), (5,0) @t (0,12) [2ilsigztaion Pisipie Ulseg £,
A (6 5) B. (5 6)
3. 4 2 2 )
C. (5,12) D. (12,5)
Slope of line AB passes from points A(-2,6) and B(3,-4) is
A. 10 B. 2
4, T 5
C. -2 D. -10
R 5 R R 5
A(-2,6) ¥ B(3,-4) Sl dALMLAB <l éla £9.
A. 10 B. 2
Y. 5 5
C. —2 D. -1

5
The equation of the line passing through the point (1,5) and (3,-2) is
A. 7x—2y—17=0 B. 7x+2y—17=0
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10.

q0.

11.

4.

12.

.

13.

C. 3x+4y+13=0 D. 3x—4y—-13=0

Two lines having slopes m and m, respectively are perpendicular if

[6ig2l (1,5) 24 (3,-2) Higdl w1z adl 2uid uslsza £,
A. 7x —2y—17 =0 B. 7x+2y—17=0
C. 3x +4y +13=0 D. 3x—4y—13=0
The radius of the circle x? + y2 = 50 is
A. 25 B. 22
C. 5/2 D. 55
449 x% + y2 = 50 <l Biewa 9.
A. 245 B. 22
C. 52 D. 55
The equatlon of a circle passing through (3,4) and centred at (4,3) is
A x2+y?—-8x—6y+23=0 B. x2+y?—6x—8y—23=0
C. x?+y?-8x—-6y+27=0 D. x2+y%2—-8x—6y—27=0
(4,3) 5l 1< (3,4) Higdl uuIR Ul Aqod Als20 9.
A x*+y?=8x-6y+23=0 B. x2+y2—6x—8y—23=0
C. x2+y>—8x—6y+27=0 D. x2+y2—8x—6y—27=0
If the radius of the circle x? + y> —4x — 8y + k =0 is4thenk =
A 4 B. 4
C. 2 D. -2
ol AdNx? +y2 —dx —8y + k= 0l BoraL 4 sl dik =
A 4 B. 4
C. 2 D. -2
If two lines 2x + 3y —1 = 0 and kx + 3y — 5 = 0 are parallel then k =
A 2 B. -5
cC. -1 D. 3
AL YU 2x + 3y — 1 = 0 94l kx + 3y — 5 = 0 URU UHIdR Sl dl
k =
A 2 B. -5
C. -1 D. 3
X-intercept of the line 5x + 3y +4 =01is
A. -5 B. —4
3 5

C. -3 D. -5
-~ 5 ~ . . -~ T
WALSx + 3y + 4 = 0 HI2 X-2id:vig €9,
A. -5 B. —4

3 5
C. -3 D. -5

5 4
Centre of the circle x2 + y2 =18is
A (0,3V2) 3 (3 0)
C. (0,0) D. (3v2,3+2)
N x2 + y2 = 18 d 5¢ £,
A. (0,3v2) B. (342, 0)
C. (0,0) D. (3v2,3V2)
Equation of normal to the circle is x + y? — 2y — 7 = 0 at point (2,3) is
A. x+y—-1=0 B. x—y+1=0
C. x—y—-5=0 D. None of these
N x2 + y2 — 2y — 7 = 0 <l (2,3) [5ig, 2191011 H[Meior Ails20 9.
A x+y—1=0 B. x—y+1=0
C. x—y—5=0 D. None of these
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13.

14.

Y.

15.

u.

16.

1e.

17.

9.

18.

<.

19.

A m=m,+1
C. mm=-1
6L G0t LULBIL S 67l 2L0L HelsH M, 2 m,
A m=m+1
C. mm,=-1

=m

N

The vertices of AABC are A(1,2), B(2,3) and C(p,5) and mLA:% then p=

A 2
cC. -2

AABC L [21[sizoll A(L,2), B(2,3) 21l C(p,5) slt 24 mLA=

A 2

c. -2

If f(x)=1logx then f(xy)=
A F(x).T(y)

C. f(x)—f(y)

osl f(x)=logx slidl f(xy)=
A F(X).T(y)
C. f(x)-1(y)

If f (x) =e*then f'(0) =
A 1

C. e

oql f(X)=¢€" ¢ladl f(0)=
A1

C. e

If f(x)=sinx then f(%+xj:

A. —sin X
C. —COS X

o4l f(x)=sinx €4 dl f(%+x]

A. —=sinx
C. —COS X
} X
||m_—:
x=0 SN X
A. 0
C. X
} X
||m_—=
x=0 8| X

0
0,-2

0,-2

F(x)+f(y)
alt)
f(y)

f )+ f(y)
f()
f(y)

COS X
sin X

COS X
sin x

sin X

sin x
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20.

0.

21.

9.

22.

L.

23.

23.

24.

t3
7\
'_\

+
S|
~—
Il

t3
7\
'_\

+
S|
~—
Il

None of these
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Y.

25.

U,

26.

A

27.

9.

28.

L.

29.

=3 3+ x /6
A z\ﬂg
C _z\ﬁg
. e*-1
lim =
x—0 X
A. e
C. -1
. ef-1
lim
x—0 X
A. e
C. -1
. Sin7x
lim= =
x-0 §ln 4X
A. 7
4
C. 11
. Sin7x
lim= =
x-0 §lN 4X
A. 7
4
C. 11
d,
dx J_ B
A. l X%
3
C 13
3
d,
dx J_ B
A. l X%
Co1,3
3
EGZXH —
dx
A_ er+7 2
C_ e2x+7
ie2x+7 —
dx
A e2>(+7 2
C e2x+7
d
—+/COSX =
dx
A [Ssinx
C —sin x
2+/cos X

o

o

0
None of these

S eI

14e2x+7
None of these

14eZX+7
None of these

1

2-/C0S X
—CO0S X

24/sin x
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30.

30.

31.

39.

32.

32,

33.

33.

34.

37.

d
—+/COSX =
dx
A [Ssinx
C. —sin x
2+/cos X
If x=at® and y=2at then g
At
C. a
t

~ -~ ~ ~ d
ofl X =at® vid y=2at sliddl 5

At
C a
t

d 3

OIX(cos x) =

A. 3x2 cos? x

C.  —3cos? x.sin x
d 3

dx(cos x) =

A. 3x% cos’ x

C.  —3cos? x.sinx
13“ _

dx

A. 3"log, 3

C.  log, 3"

134x —

dx

A. 3"log,3

C. log, 3"

d , .
—e*sinx=

dx

A.  e*.cosx

C.  e*.cosx+e*sinx
d , .
—e*sinx=

dx

A.  e*.cosx

C.  e*.cosx+esinx
d

— COSECX =

dx

A.  cot’x

C.  cosecx.cot X
d

— COSEeCX =

dx

A.  cot’x

C.  cosecx.cot x

©

©

©

©

o

1

2+/c0s X

—CO0S X

24/sin x

3sin® x
—sin®x

3sin® x
—sin®x

4.3%log, 3
None of these

4.3*log, 3
None of these

—e*.cosx+e*sinx
None of these

—e*.cos x+e*sinx
None of these

—Ccosecx.cot X
—Ccosecx.tan x

—cosecx.cot X
—cosecx.tan x
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35.

3U.

36.

3.

37.

39.

38.

3<.

39.

3.

C.

Minimum value of f(x)=x*—4x+2is

A 1
C. 2
f(X) = X* —4X+2 < Ay 4t
A 1
C. 2

A
C.

25 50 oA[AYA s =t —6t* —15t €9, dld s

A

1

1+ x?
1

J1-x?

-5
-3

-5

-

-~

D.

B.
D.
The equation of motion of a particle s =t° —6t*> —15t then the velocity of the particle
will be zero at t =

Bl

1-log x
X2
None of these

1-log x
X2
None of these

AUHA, 9 A,
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40.

¥O.

41.

w9,

42.

TR,

43.

3.

44,

6 Y.

45.

cC. -3 D. 5

Maximum value of f(x)=x>—-3x+111is

A 9 B. 6
C. 13 D. -6
f(X) = x> —3X+11 < HSH HeY 9.
A 9 B. 6
C. 13 D. -6

Minimum value of f(x)=sinx+cosx, Xe [O%} is

A1 B. 2

J2
C. _2 D. 2
f (X) =sin x +cos X, Xe{o,ﬂ o el dH HEY
A1 B. 2

2
C. _2 D. 2
The equation of motion of a particle is s =t® —3t* +4t + 3 It’s velocity at t =2
IS
A 6 B. 4
cC. 4 D. -6
25 504 ofdYA s =12 -3t* +4t+3 9, v t =
A 6 B. 4
C. 4 D. -6
If y:Iogsinx,then%:

dxk —

A. COSX B. cot X
C. 1 D. logcosx

sin x
o¥l y =logsin x, ¢lA dl dy _

dx —

A. COSX B. cot X
C. 1 D. logcosx

sin x
i(sin’l X+C0s ™ X) =
dx
A 0 B. -1
C. o D. V4

2
i(sin’l X+C0s ™ X) =
dx
A 0 B. -1
C. 0 D. T
2

_[ 21 dx = +C
X +4

_(B/

2 A58 S dl d 50l 931

RIER
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wU.

46.

.

47.

.

48.

gL,

49.

g,

_[ ! dx = +C

Il—dx— +C

J»_dlogx X = +C
X

A loglx|

C. 1 2
=(1
L 05

dx
A Iog‘x—\/x2 -a’

C. Iog‘x+\/x2 +a’

dx
A. Iog‘x—\/x2 -a’

C. Iog‘x+\/x2 +a’

_[ cosec’xdx =
A.  —cosecx.cotx
C. —cot x
J. cosec?xdx =
A. —COSecx.cot X
C. —Ccot X
_[ x*dx = +c
Ay

5
C. G
.[ x*dx = +C
Ay

5
C. x>

Iog‘x+\/x2 —a’
Iog‘x—\/szra2

Iog‘x+\/x2 —a’
Iog‘x—\/szra2

cot X
tan x

cot X
tan x

4x°
4x°
4x3

4x°
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50.

yo,

51.

uq.

52.

=,

53.

us.

54.

uy.

55.

o

cos xdx =

>
S own
Il

x
D

x
)
>
o
=< 0]
| |
|_\

OPo—r OB om0 P>
@ @

e—1
If j(3x2+2x+k)dx:0 then k =
0 2

4

o>

-

41 j(3x2+2x+k)dx=0 s dl k=
0

o

o

B.
D.

log3
log4

log3
log4

—cos(log x)
None of these

—cos(log x)
None of these

The area enclosed by the curve y =X’ the x-axis and the x =21is

A 2
C. 4
Isin(logx)dxz e
X
A. cos(logx)
C.  —cos(logx)
X2
Ism(IOgX)dx= e
X
A.  cos(log x)
C.  —cos(logx)
X2
A 8
3

B.

16
3

units.
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uu,

56.

Ye.

S7.

uas.

58.

uc.

59.

U,

C. §g D. Eﬁ
3 3
A5 Y =X, X-218 hel x = 2943 HRAAL Uz A5 Vig5H YA,
A. § B. l@
3 3
C. §g D. Qﬁ
3 3
The area of the standard circle x>+ y* =a*,(a>0)=
A. 2ra B. ra’
C. 7[a3 D 7z'a2
4
49 X2 +y? =a*,(a>0) < &0 SIRH
A. 2ra B. ra’
C. ral D 72'3.2
4
x*+3x—4
[y ro
x—1
B.
1x2+x2—4x 1x2+4x
Co 1o 4y D. 2(x+2).log|x-1
4
X +3x—4
I dx = +C
x—1
B.
Ly ax Ly iax
3 2
C. 1o 4 D. 2(x+2).log|x-1
4
¢ odx
[ vo
Y 1+X
A. Vin B. T
4 2
C. =« D. O
todx
[ e
Y 1+X
A. Vin B. T
4 2
C. D. O
.[axdx = +c
A xa*?! B loga
aX
C. a* D. at
loga
.[axdx = +C
A xa*?! B loga
aX
C. a* D. at
loga
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60.

61.

<q.

62.

T,

63.

3.

64.

w
X

65.

Volume of solid generated by revolving region bounded by y = f,(x) andy = f,(X)
around X-axis is V =|I| where | =

A af[1600) + {1,008 Jaxunit B 2[[(£,605 ~{£,00}" |axunit

C [{ fl(x)}z—{fz(x)}z]dxunit D [{ fl(x)}2+{f2(x)}2]dxunit
y=f(X) vdy = f,(x) 4l dial Usad X-2481(l 241500116y GHIAAL olcldl telUelded desn
V=|l| ol 1 =

A 2[R0 +{H00)" Jaxunit B 2 [[{£,00) ~{£,00}" |axunit

C A [{100F = {1,008" Jaxunit P [ {100} +{f,00}" |axunit
Mode of the observation 11,2,7,3,5,7,6,10,9,7 and 8 is

A 11 B. 9
C. 7 D. 3
Hilladl »144i541 11,2,7,3,5,7,6,10,9,7 244 8 14 dl d<ll olsds 2,
A 11 B. 9
c. 7 D. 3

From given 12 observations if Z X, =102 and Z X,? =1542 then standard deviation
is
A. 1134 B. 56.25

C. 3833 D. 750

SUAL 12 2AdlsAl |2 671 Y X, =102 24 Y| X2 =1542 «ld ol uuilBid [Aed
YL,

A 1134 B. 56.25

C. 3833 D. 750

If the standard deviation of the variable x is12 and if y = # then the standard

deviation of yis
A. 6 B. 4
c. 3 D. 24

-~ . - - = 2X+3 ~ ~ .
ol X <L UHL[BIA [A”a4 12 St vt ool y = LSl y o uHBd [Qaad

-

9.
A 6 B. 4
C. 3 D. 24

For a frequency distribution n=5,> x =275and )_ x? =15625 then the standard
deviation of the frequency distribution is

A 12 B. 10
C. 15 D. 5
gl [Adze Uz n =5, x = 275244 Y x? =15625 ¢4 dl 2iiet vugd ([Ad2e
UHLOA [A5a 9.
A 12 B. 10
C. 15 D. 5
Mode of the following frequency distribution of children of 50 families=
No.Of |0 |1 |2 |3 |4
children
No.of |12 {20 |10 |6 |2
families
A. 20 B. 2
C. 1 D. 4
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<U.

66.

Se.

67.

68.

<l.

69.

s,

70.

90,

~ =~

50 5201l ols1< 2L (A0 24U 69,dL d<ll olgds 21,
A 20 B. 2
C. 1 D. 4
Median of the following observations=
8,3,5,12,9,14,17,1,7
A 9 B. 17
C. 8 D. 14
HUG[AAL 2494151 8,3,5,12,9,14,17,1,7 GI4 Al dll W42 21,
A 9 B. 17
C. 8 D. 14
For a frequency distribution Mean is 1.43 and Median is 1.32 then it’s Mode=
A 11 B. 275
C. 011 D. 286
UG (A0 HI2 HoAs 1.43 i e, 1.32 G dl d<ll clgdls
A 11 B. 275
C. 011 D. 286
If the given data are 3,5,2,6,5 them Mean =
A 22 B. 21
C. 101 D. 4.2
oAl BUUE $1Adlsl 3,5,2,6,5 1A AL HeAS = 2
A 22 B. 21
C. 101 D. 4.2
The mean of the 5 observations x—8,x—5,x—3,x+2,x+4is 8 then x=
A. 16 B. 12
C. 10 D. 8
WIUE 5 AAAISALX -8, X =5, X —3, X+ 2, X+ 4 Al 445 8 syt dl X =
A. 16 B. 12
C. 10 D. 8
Formula gives the relation between Mean, Median and Mode.
A Z=2X-3M B. Z=3M-2X
C. Zz-2X=3M D. Z+3M+2X=0
HEAS, HEA S, el oS A2l HolH 9.
A Z=2X-3M B. z=3M-2X
C. z-2X=3M D. Z+3M+2X=0

*hkkkkhkkkhkhkkkikhkkkikk
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